
INSTRUCTIONS D’ASSEMBLAGE 
ADAPTATEUR POUR CHÂSSIS CLICK’N GO 2 KIMPEX N° 373987 
Sportsman HO (châssis à tube carré) 
 

 

KIMPEX INC. / 5355, rue St-Roch / Drummondville (Québec) Canada / J2B 6V4  
KIMPEX USA / 100 Walnut Street / Champlain, New York / 12919 
A-7815024 Rev.A  •  Imprimé en Chine / Printed in China  

1 

 
 
Réf. Description No d’article Qté Réf. Description No d’article Qté 
01 Boulon de carrosserie  M8-1.25 x 65 mm 

 2  05 Écrou autobloquant hex. en nylon M8-1.25 
 8    

02 Boulon de carrosserie CL8.8  M8-1.25 x 25 mm 
 4  06 Plaque de support 7815024_2000 1 
  07 Plaque de fixation 7815010_1103 4 

03 Rondelle plate M8  2  08 Plaque de montage principale 7815024_1000 1 
04 Boulon hex. CL8.8 M8-1.25 x 30 mm 

 2      
      

 

 
  

01
02

01 

06 

08 

07 
07 

05 

07 

07 

04
4 
03
4 

02
4 

02
4 

02
4 

Vue explosée 



INSTRUCTIONS D’ASSEMBLAGE 
ADAPTATEUR POUR CHÂSSIS CLICK’N GO 2 KIMPEX N° 373987 
Sportsman HO (châssis à tube carré) 
 

 

KIMPEX INC. / 5355, rue St-Roch / Drummondville (Québec) Canada / J2B 6V4  
KIMPEX USA / 100 Walnut Street / Champlain, New York / 12919 
A-7815024 Rev.A  •  Imprimé en Chine / Printed in China  

2 

 
INSTALLATION 
 
1) Fixez les quatre (4) plaques de fixation 07 à la plaque principale 08 à l’aide de quatre (4) boulons de carrosserie 

M8-1.25 x 25 mm 02 et de quatre (4) écrous autobloquants M8-1.25 05. Vissez les premiers filets seulement. 
 

 
 

2) Insérez la plaque de support 06 au-dessus des tubes du châssis du véhicule, juste derrière les bras de suspension. 
 

  
 
  

Fig.1  

02 

02 

05 

05 

05 05 

07 

08 

07 
07 

02 

07 

02 

Plaque en U Position finale 

Insertion de la plaque Doit être insérée dans  
la plaque en U 



INSTRUCTIONS D’ASSEMBLAGE 
ADAPTATEUR POUR CHÂSSIS CLICK’N GO 2 KIMPEX N° 373987 
Sportsman HO (châssis à tube carré) 
 

 

KIMPEX INC. / 5355, rue St-Roch / Drummondville (Québec) Canada / J2B 6V4  
KIMPEX USA / 100 Walnut Street / Champlain, New York / 12919 
A-7815024 Rev.A  •  Imprimé en Chine / Printed in China  

3 

 
3) Passez les deux (2) boulons hex. M8-1.25 x 30 mm 04 et les deux (2) rondelles M8 03 dans les trous déjà présents 

dans la plaque de protection du véhicule.  
 

 
 

4) Fixez la plaque de montage principale 08 en passant les deux (2) boulons installés précédemment au travers de la 
plaque principale et des deux (2) plaques de fixation 07 à l’aide de deux (2) écrous autobloquants M8-1.25 05.  
Vissez les premiers filets seulement. 
 

   

04

Trous à utiliser 
dans la plaque 
de protection 

03 

04 

03 

Vue de 
dessous du 
véhicule 

Avant du 
véhicule 

Fig. 2 

08
02 07 

05

07 

05 Fig. 3 



INSTRUCTIONS D’ASSEMBLAGE 
ADAPTATEUR POUR CHÂSSIS CLICK’N GO 2 KIMPEX N° 373987 
Sportsman HO (châssis à tube carré) 
 

 

KIMPEX INC. / 5355, rue St-Roch / Drummondville (Québec) Canada / J2B 6V4  
KIMPEX USA / 100 Walnut Street / Champlain, New York / 12919 
A-7815024 Rev.A  •  Imprimé en Chine / Printed in China  

4 

 
5) Passez les deux (2) boulons de carrosserie M8-1.25 x 65 mm 01 dans la plaque de support 06, puis dans la plaque 

principale 08 et les deux (2) plaques de fixation 07. Fixez à l’aide de deux (2) écrous autobloquants M8-1.25 05. 
 

  
6) Vérifiez que la plaque de montage principale 08 est centrée par 

rapport au châssis du véhicule. 
 
7) Vissez tous les écrous en place. 
 
8) Installez le crochet de positionnement A sur le châssis  

Click’n Go 2 en position. Voir la Fig. 5. 
 
 

06 

01 
01 

07 

07 

05 
05 

Fig. 4 08 

Fig. 5 

A 



MOUNTING INSTRUCTIONS 
CLICK’N GO 2 FRAME ADAPTER KIMPEX No. 373987 
Sportsman HO (Square-Tube Frame) 
 

 

KIMPEX INC. / 5355, rue St-Roch / Drummondville (Québec) Canada / J2B 6V4  
KIMPEX USA / 100 Walnut Street / Champlain, New York / 12919 
A-7815024 Rev.A  •  Imprimé en Chine / Printed in China  

1 

 
 
Ref. Description Item No.  Qty  Ref. Description Item No.  Qty 
01 M8-1.25 x 65 mm carriage bolt  2  05 M8-1.25 hex. nylon self-locking 

nut  
 8    

02 M8-1.25 x 25 mm CL8.8 carriage 
bolt 

 4  06 Support plate 7815024_2000 1 
  07 Clamping plate 7815010_1103 4 

03 M8 flat washer  2  08 Main mounting plate 7815024_1000 1 
04 M8-1.25 x 30 mm CL8.8 hex. 

bolt  
 2      
      

 

  

01
02

01 

06 

08 

07 
07 

05 

07 

07 

04
4 
03
4 

02
4 

02
4 

02
4 

Exploded view 



MOUNTING INSTRUCTIONS 
CLICK’N GO 2 FRAME ADAPTER KIMPEX No. 373987 
Sportsman HO (Square-Tube Frame) 
 

 

KIMPEX INC. / 5355, rue St-Roch / Drummondville (Québec) Canada / J2B 6V4  
KIMPEX USA / 100 Walnut Street / Champlain, New York / 12919 
A-7815024 Rev.A  •  Imprimé en Chine / Printed in China  

2 

 
INSTALLATION 
 
1) Fix the four (4) clamping plates 07 to the main plate 08 using four (4) M8-1.25 x 25 mm carriage bolts 02 and four (4) 

M8-1.25 self-locking nuts 05. Screw the first threads only. 
 

 
 

2) Insert the support plate 06 above the vehicle frame tubes, just behind the suspension arms. 
 

  
 
  

Fig.1 

02 

02 

05 

05 

05 05 

07 

08 

07 
07 

02 

07 

02 

U-plate Final position 

Insertion of the Plate Must be inserted in the U-plate 
 



MOUNTING INSTRUCTIONS 
CLICK’N GO 2 FRAME ADAPTER KIMPEX No. 373987 
Sportsman HO (Square-Tube Frame) 
 

 

KIMPEX INC. / 5355, rue St-Roch / Drummondville (Québec) Canada / J2B 6V4  
KIMPEX USA / 100 Walnut Street / Champlain, New York / 12919 
A-7815024 Rev.A  •  Imprimé en Chine / Printed in China  

3 

 
3) Pass the two (2) M8-1.25 x 30 mm hex. bolts 04 and the two (2) M8 washers 03 in the existing holes of the vehicle 

skid plate.  
 

 
 

4) Fix the main mounting plate 08 by passing the two (2) previously installed bolts through the main plate and the two 
(2) clamping plates 07 using two (2) M8-1.25 self-locking nuts 05. Screw the first threads only. 
 

   

04

Skid plate 
holes to be 
used 

03 

04 

03 

Underside 
view of the 
vehicle 

Front of the 
vehicle 

Fig. 2 

08
02 07 

05

07 

05 Fig. 3 



MOUNTING INSTRUCTIONS 
CLICK’N GO 2 FRAME ADAPTER KIMPEX No. 373987 
Sportsman HO (Square-Tube Frame) 
 

 

KIMPEX INC. / 5355, rue St-Roch / Drummondville (Québec) Canada / J2B 6V4  
KIMPEX USA / 100 Walnut Street / Champlain, New York / 12919 
A-7815024 Rev.A  •  Imprimé en Chine / Printed in China  

4 

 
5) Pass the two (2) M8-1.25 x 65 mm carriage bolts 01 through the support plate 06, then through the main plate 08 

and the two (2) clamping plates 07. Fix it using two (2) M8-1.25 self-locking nuts 05. 
 

  
6) Check that the main mounting plate 08 is centered in 

relation to the vehicle frame. 
 
7) Tighten all nuts into place. 
 
8) Install into place the positioning hook A on the Click'n Go 2 

frame. See Fig. 5. 
 
 

06 

01 
01 

07 

07 

05 
05 

Fig. 4 08 

Fig. 5 

A 


